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What does the term "degree of conflict" mean?

Describe the probability of occurrence for case 2 and case 5.
Define the term "departure headway".

Describe in your own words the meaning of equation 20-11.
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Degree-of-Conflict Approach
Case Opp Con-L Con-R Probability of Occurrence
1 N N N (1-x(1 - x)(1 - xcp)
2 Y N (X1 = x4 )(1 = xp)
3 N Y N (1= x)(x (1 = x5)
3 N N Y (1 - x)(1 - x5 )(X%)
4 Y N Y (x(1 = x4 )(XR)
4 Y Y N (X (xg )1 = x0)
4 N Y Y (1 - x ) (xq)(xcR)
5 Y Y Y (x, o) (x, CL) (x, CR)

Note: Opp = opposing approach, Con-L = conflicting approach from the left, Con-R = conflicting
approach from the right, N = no, Y = yes.



Base Saturation Headway (s
No.of | Group | Group Group Group Group Group Group Group
Case Veh. 1 2 3a 3b 4a 4b 5 6

1 0 3.9 3.9 4.0 4.3 4.0 4.5 4.5 4.5

1 4.7 4.7 4.8 5.1 4.8 5.3 5.0 6.0

2 2 6.2 6.8
23 7.4

1 5.8 5.8 5.9 6.2 5.9 6.4 6.4 6.6

3 2 7.2 7.3
>3 7.8

2 7.0 7.0 7.1 7.4 /7.1 7.6 7.6 8.1

3 /7.8 8.7

g 4 9.0 9.6
25 12.3

3 0.6 0.6 9.7 10.0 0.7 10.2 0.7 10.0

c 4 0.7 11.1

5 10.0 11.4

\_\ =6 z 11.5 13.3




Assignment 06 - AWSC Intersection Computational Engine for Simplified Scenario #2
The objective of this assignment is to construct a spreadsheet that computes the capacity for a four-leg single-lane
approach AWSC intersection. The spreadsheet should satisfy the following requirements:

Accepts the flow rates on each approach as inputs.
Computes lambda (veh/sec) for each approach.
Computes the xs, xo, Xc, and xcr for each approach iteratively.

Computes P[Ci] for each of the five degree of conflict cases for each approach iteratively.

Computes the departure headway ha for each approach iteratively.

Once you have completed the spreadsheet that meets the above requirements, complete the following tasks:

Assume an intersection with 300 veh/hr on each approach. Use the spreadsheet to determine the capacity of
the NB approach.

What should be the sum of P[Ci] for each approach?
What should be the maximum value of X in rows 13-167 Why?
What could be the maximum value of X in row 277 Why?

Notes:

Your spreadsheet will have a circular reference. You may need to use the re-calculation key (F9) to obtain
convergence of the departure headway.

The likelihood of a vehicle present on an approach can never exceed one. How do you control for this in the
spreadsheet tool that you are developing?
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